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21 | @ |77 2 ‘AT 77 1 C=73
28| ®|77 2 ‘AT 77 1 C=66
29| ®|77 2 ‘AT 7T 1 C=103
30 |e|7y 2 ‘AT 77 1 C=95
31| @ |7y 2 ‘AT 7T 1 C=88
2|e|77 2 ‘AT 77 1 C=99
33| @|v/ B TINAH Y 3 mrIFEfIERH=1.4/1.5/1.8
3| @ | B 1 4 AP MIEREH=1.2/1.0/2.0/1.7/1.1
35| @ |y B 1 mFIFEAIER H=1.6
36| ® |7/ B 1 mrIFEAIER H=1.9
37| @ |y B 1 mFIFEAIER H=1.9
38| @ |y, B 1 mFIFEAIER H=2.5
39| @ |4y B 2 mrIFEfIER H=1.5/1.6
40 | ® |44 B 1 mrIFERER H=1.8
40 | ® |44 B 1 mPIFEAIER H=2.5
40 | ® |44 B 1 mFIFERIER H=1.1
41| @ |44 B 1 mrIEAER H=1.0
42| @ |45 B 1 mPIERER H=2.2
46 | @ |y 2 1 mrIFEfIEREC=62
47 | @ |78 2 1 mrIFEAER H=1.8
48 | @ |78 1 1 mrIFERIERE C=45
48 | @ |78 2 1 mrIFE R AIER H-2.5
49 | @ |78 2 1 mFIFE{EE C=62(39/50)
50 | ® |TEv B 1 mrIFEAIEREH=1.5
51| @ ¥ C 1 P H=2.1
52| ®|Evs 3m2 3 mrIEAER H=0.5
53| @ |THV*B 1 mrIFEAIER H=1.5
54 | @ |TH Y *FA 2 mrIFEAIER H=1.5
55| @ |THV*B 1 mrIFEAIER H=1.0
56 | ® |4 1 1 mrIFEAIER H=2.5
57| @ s 1 1
57| @ |5 1 1
57| @ |5 1 1
57| @ |5 1 1
58 | @ | 1 1
58 | @ | 1 1
58 | @ | 1 1
59 | @ |44 A 1
60 | ® |44 B 1
61 | ® |44 B 1
62 | ® |44 B 1
63| @ | 2 1
64| ® |Ev s 10m2 10
65| @ |77 1 1
66| @77 2 1
67 |® |77 2 1
68| @7y 2 1
69 | ®|Hha 2 1
70| e|h4 2 1
7| e|nqg4 2 1
2| e |4 2 1
3| e|ng4 2 1
T4 @ |H4 1 1
B e|lag 1 1
7% | e |hg 2 1
78 TV 5B vy 1
79 TV 4B vy 1
82 Bk vy L1m2 |V % (3H8) 10
83 TV 4B vy 1
84 TV 4B vy 1
85 TV 4B vy 1
86 TV 4B vy 1
87 TV 4B vy 1
88 TV 4B vy 1
89 TV 4B vy 1
90 FiE 40m2 | ¥V (FE) 40
91 TA7%A 234 TF 1
92 TA7%A 234 7% 1
93 T4 7%A 234 T% 1
94 TA7%A 234 7% 1
95 T4 7%A 234 TF 1
96 T4 7%A 234 TF 1
97 TA7%A 234 7% 1
98 T4 7%A 2
99 | @ |4 2 1 A E L 0 55C=116(58/43/34/30)
100 ® |4 2 FrIVa 1 A & DB C=71(38/38/26)
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2 X @ (2/2)
= # P Y]

% | ) BAEEY (cm) HhE(m2) AHEY om B &(m) HhE(m2) fiik

5 | & A 2:30“ 2;)0“ 1??0‘ 1;’50“ 15:0‘ 91020“ 620“ 320“ <30 2~3 | 1~2 | 1~06 | 06~ [k | [e0~120] 60~ [ 2~3 | 1~2 | 1~ | 06~ | MmEw FA

101 | @ | 2 Yrava 1 41

102 | @ | 2 =) 1 4

103 | @ |¥ 2 =) 1 41

104 | @ | 2 Yrava 1 41

105 H o2 Yrava 1 41

106 H o2 Yrava 1 41

107 E17 C EATXET A 1 AX[E & OHH=2.3
108 | @ |¥ 2 Yrava 1 C=58(40/43)

109 | @ |¥ 2 Yrava 1 C=106(40/51/60)
110 | @ [HA 2 hATh4 7% 1 C=62

112 | @ |H4 2 hATh4 7% 1 C=66

113 | @ |h4 2 hATh4 7% 1 C=75

114 | @ |HA 2 hATh4 7% 1 C=72

115 | @ |h4 2 HhATh4 7% 1 C=73

116 | @ |H4 2 hATh4 7% 1 C=82

117 | @ | h4 2 HhATh4 7% 1 C=86

118 | @ |H4 2 HhATh4A 7% 1 C=77

124 | @ |[~nF C NFIXF 1 C=57(49/32)

125 /47 B b FFEI A 1 H=1.5

126 /47 B b FFEI A 1 H=1.2

127 /47 B b FFEI A 1 H=1.7

128 /47 B b FFES A 1 H=1.7

129 /47 B b FFEI A 1 H=1.0

130 FrEIRA 1 H=2.2

131 FrEIEA 1 H=2.5

132 HvEy 11 11 H=0.5 FHER U A
133 | @ |47 1 Y7 1 C=111(59/52/34/14)
134 | @ |Hs 1 Ho7 1 C=70

135 | @|7nm 1 JOHZETF 1 C=55(45/33)

136 | @ |47 1 H77 1 C=48

137 | @ |47 1 H77 1 C=51

138 | @ |47 1 Y7 1 C=49(40/30)

501 | @ |¥v7 B v FAvA 1 EPIRRAIEREH=0.6
502 | @ |¥7 B v FAvA 1 EPIRAEREH=1.1
503 | @ D 1 EPIEAIEREH=0.8
504 | @ 1 ErIERIERH=1.2
505 6.9 H=0.8W=1.1L=1.9
506 1 H=1.6

507 3.1 H=0.6 L=1.6 W=0.8
509 | @ |¥HB HHFH 1 BErIERIERH=1.6
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3 X @ (1/3)
2 E &
% |8 B mAREE Y (cm) # &(m) Fi(m2) EAHEY (o) FHE(m2) ik
5 | E e A% 2007 | 210~ | 180~ | 160~ | 120~ | 90~ | €0~} 30| 55| 5 5 | 1 | 106 | 06~ | e | fleo~120| 60~ | 2~3 | 1~2 | 1~06 | 06~ | EiN e
270 240 210 180 150 120 90 60
2 | e | 2 <Y C=69
4| @ |y e 1 C=103
5| @|¥y e 1 C=125(48/54/77)
6 ¥~ C *FUEIEA 1 H=2.9
7 ¥ C *FUEIEA 1 C=70(20/26/27/27)
8 | @ | 2 <Y 1 C=76
10| @ |2 2 <Y 1 C=65
11| e 1 <Y 1 C=39
12 ¥~ C *FUEIEA 1 H=2.3
13 ¥~ C *FUEIEA 1 H=2.2
14 ¥ C *FUEIEA 1 H=2.2
15 ¥ C *FUEIEA 1 H=2.3
16 | @ |Ex 2 LY TV RF 1 C=136
17| @ v 2 LY TV RF 1 C=85
18| @ v 2 LY IV RF 1 C=105
19| @ |Ew 2 LY TV RF 1 C=98
20| ®|tv 2 LY IV RF 1 C=108
21| @ |Ew 2 EXS¥RF 1 C=104
22| ®|tw 2 LY IV RF 1 C=115
23| @ |tv 2 LY IV RF 1 C=121
24| ®@|ET 2 LY IV RF 1 C=88
25| @|kw 2 LY IV RF 1 C=97
30| ®|tw 2 LY IV RF 1 C=79
31| @ |hA 1 HAThATH 1 C=54
32 ¥ C *FUEIEA 1 H=2.5
33| @|tvw 2 LY IV RF 1 C=101
34| @ |HhA 2 HATHhAT* 1 C=66
35| @|hg 1 HATHhATH 1 C=53
36| ®|hA 1 HATHhATH 1 C=56
3| @ |h4 1 HATHhATH 1 C=57
38| ®|tv 2 LY IV RF 1 C=100
39| @|ha 1 HATHhATH 1 C=54
40| @ |h4 1 HATHhATH 1 C=56
42 7FFY B 055 1 H=15
43 | @ |Ew 2 LY IV RF 1 C=97
4 | @ kT 2 LY TV RF 1 C=72
46 | @ |[EX 2 LY IV RF 1 C=80
47 | @ |Ex 2 LY TV RF 1 C=102
50 | @ |t 2 < 1 C=65
51| @ |f 2 <Y 1 C=71
52| @ |f 1 <Y 1 C=50
54 | @ |¥ 1 Prava 1 H=2.3
55 | @ |¥ 1 Hra 1 H=2.3
56 | @ | 1 Yrava 1 H=2.3
57| @ |¥ 1 Hrava 1 H=2.5
58 | @ |¥ 1 Prava 1 C=92(25/31/37/39)
59 | @ |¥ 1 Hrava 1 C=53(32/45)
60 | ®|Hh> 1 ¥IhY 1 C=69
61| ®|Hh> 2 ¥Ihy 1 C=68
62| ®@|Hh> 1 ¥IhY 1 C=40
63| @ |n 2 TIhy 1 C=71
64| ®|Hh 2 vIhYy 1 C=196(46/74/76/84)
65| @ |vv 2 YYEE 1 C=119(29/68/74)
66| @ |V 1 VE 1 C=56
69 TY4'B vy 2 H=1.4/13
70 TY4'B vy 1 H=14
71 TV 4B vy 1 H=1.6
72 TY4'B vy 1
73 TY4'B vy 1
74 TY4'B vy 1
75 TY4'B vy 1
76 TY4'B vy 1
77 TY4'B vy 1
78 TY4'B vy 1
79 TY4'B vy 1
80 Y4B vy 1
81 TY4'B vy 1
82 TY4'B vy 1
83 Y4B vy 1
84 TY4'B vy 1
85 Y4B vy 1
86 Y4B vy 1
91 TY4'B vy 1
92 TV 4B vy 1
93 TV 4B vy 1 1.6
94 TY4'B vy 1 1.6
95 TY4'B vy 1 1.6
96 TY4'B vy 1 1.6
97 TY4'B vy 1 1.6
99 Y4B vy 1
100 TY47B vy 1
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3 X m(2/3)

2 K &
# |3 AAEEY (cm) EREL Him) AR e T Fm2) hg
5 | ETES B 2;’; 2;: fi’; 13; 1?: 9102.0 s;)[») 32[; ~30| 2~3 | 1~2 | 1~06 | o6~ | dwe | w2 [eo~120| 60~ | 2~3 | 1~2 | 1~06 | 06~ e N TS
103 TV 4B 1 H=0.9
104 TV 4B 1 H=0.7
106 TY4A 1 H=0.9
107 TY4A 1 H=0.9
108 TY4A 1 H=0.9
109 TY4A 1 H=0.9
110 TY4A 1 H=0.9
111 TY4A 1 H=0.9
112 TY4A 1 H=0.9
113 TY4A 1 H=0.9
114 TY45A 1 H=0.9
115 TY4A 1 H=0.9
116 TY47A 1 H=0.9
117 TY4A 1 H=0.9
118 TY4A 1 H=0.9
119 TY4A 1 H=0.9
120 TY45A 1 H=0.9
121 TY4A 1 H=0.8
122 TY4A 1 H=0.9
123 TY A 1 H=1.5
143 TY4A 1 H=1.4
144 TY4A 1 H=1.4
145 TV 4B 1 H=1.4
146 TV 4B 1 H=1.6
147 TY 4B 1 H=1.7
148 TV 4B 1 H=1.6
149 TV 4B 1 H=1.6
150 TV 4B 1 H=1.6
151 TV 4B 1 H=1.1
153 TY4B 1 H=1.1
154 TY4B 1 H=1.4
155 TV 4B 1 H=1.4
156 TV 4B 1 H=1.4
157 TV 4B 1 H=1.4
158 TV 4B 1 H=1.4
159 TY47B 1 H=1.3
160 TY47B 1 H=1.4
161 |@|Hs 2 1 C=117(25/63/79)
162 |@|H#s 2 1 C=130(29/74/82)
163 (@ |4y 2 1 C=104(16/61/71)
164 | @ |45 2 1 C=125
175 = C 1 O H=2.5
176 = C 1 O H=2.3
177 = C 1 O H=2.3
178 = C 1 ) H=2.5
179 T C 1 ) H=1.9
180 = C 1 O H=1.3
181 = C 1 ) H=2.2
182 T C 1 O |H=2.2
183 T C 1 O |H=2.2
185 |@|Hys 2 1 C=126(86/94)
186 | @ %o 2 1 C=134
187 |@ %y 2 1 C=107
188 | @ %o 2 1 C=91
189 |@|#s 2 1 C=78
190 (@ |4y 2 1 C=100(60/83)
191 |e|s1 B JAHFEF 1 H=1.8
192 (@ |42y 2 ¥ 7 1 C=131
193 (@ |4 2 H77 1 C=143
194 7R C JAHFEF 1 H=2.7
195 7R C JAHFEF 1 H=2.7
196 7R C JAHFEF 1 H=2.8
197 sn C JAHFETF 1 H=2.7
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3 X @ (3/3)
R # mick 2 ER
= W ) EAREE Y (cm) FiE(m2) AR e f#t &(m) ZHi(m2) %
5 | ® A 2:3[; 2;’[; 1?1’0‘ 1?;’0“ lf:l; 9102; 62{; 32[; 30| 2~3 | 1~2 | 1~06| 06~| fm# | A [ 60~120 | 60~ [ 2~3 | 1~2 | 1~0.6 | 0.6~ | e | 3| My
210 ® |y A B 1 H=2.1
211 F VR B 7R 2 1 O |H=1.8/2.5/25
216 yra A Ug=) 1 O |H=15
217 yra A Ug=) 1 O |H=15
219 I Thv 2 O |H=2.9
220 I Thv 3 O |H=2.9/2.8/2.8
221 A Thv 1 O |H=15
222 A Thv 4 O |H=2.9/2.9/2.8/2.5
223 A Thv 1 O |H=15
224 A Thv 1 O |H=1.7
501
502 hC vIhv 1 H=2.9
503 E7A (7] 1 O |H=15
504 +vB +v 1 O |H=2.0
505 EIA P 1 H=1.1
506 HvE A ERAY 2 H=0.8
507 HvEA HUEYY Y 2 | 31 H=0.5
508 ® |2 Y7 1 C=247(20/20/42/43/43/56/58/71)
509 ¥ C FrEIRA 6 H=2.7/2.71/2.5/2.5/2.2/2.5(5 X&)
510 A C A 2 O |H=1.7/1.7
511 7EA TEY 1 O |H=15
512 V7B vy 1 H=1.4
513 ® | HFB hFAEF 14.1 H=1.2W=0.7L=4.0
514 ® | HFB hFAEF 33.6 H=15W=1.1L=7.4
515 ® t4(7B LA FXEI A 46.9 H=1.5W=1.3L=10.0
516 ® |2 Y7 1 C=93(59/73)
517 Thv Thv 1 O |H=15
[r & ] [1JoJoJoJoJ1iJoJoJoJ 1 JToJoJoJ o JoaeJ o [oJuoJ13] 2 [2[31Jo]14]




4 X E1/2)
= A" MmICL2ER

% |8 o mAREE Y (cm) # =(m) HEm2) || EsEy cm) # =(m) (M) =
5 | E e A% 2;30“ 2;:0“ IESO“ 1;’50“ lf:l; 9102[; 620“ 320“ ~30 | 2~3 | 1~2 | 1~0.6 | 0.6~ | #Ests | 352 [|60~120| 60~ [ 2~3 | 1~2 | 1~0.6 | 0.6~ | i | A | st

1| e(hy 2 1 C=91(47/43/40)

2 | e|¥ 1 1 C=40

3 ey 1 1 C=64(36/32/23)

5 TYA 1 H=1.2

6 TYA 1 H=1.2

7] elr 2 1 C=162

s |e[ny 1 1 C=46(27/21/18)

9 | e|r 2 1 C=157

10| e[ny 1 1 C=39(29/26)

11| e[ny 1 1 C=53(30/23/22)

12| ef[ny 1 1 C=26

13| @[5 2 1 €=190

14| e[ny 1 1 C=22(18/13)

15| @f[ny 1 1 C=22(16/15)

16| @[ny 1 TIhY 1 C=36(29/22)

17| @[ 2 HoaYa 1 C=59(54/30)

18 TYA vk 1 H=1.4

19 TYA vk 1 H=1.3

20 *v C *rEIEA 1 H=2.8

21 *v C *rEIEA 1 H=2.6

2| e|* C *rEIEA 1 H=2.3

23 TZEB ZAEE 1 O |H=26

24 TREB ZAEE 1 O |H=2.2

25 TZEB ZAEE 1 O |H=2.2

26 TZEB ZAEE 1 O |H=2.2

27 t45 LA SFEI£A 1 H=1.9

28| @14 2 HAIHAT* 1 c=89

29| @14 2 HAIHAT* 1 c=107

30 k45 EASFEI£A 1 H=15

31| e 2 < 1 c=75

32| e|ve 2 YYEE 1 C=158(77/73/53/22)
33| e|vre 2 YYEE 1 C=169(85/59/49/48)
34 *v B *rEIEA 1 H=2.1

35 tA45 EASFEI£A 1 H=1.4

6|e|s 2 eV 1 C=140

37| ey 2 eV 1 C=108

45| ey 1 Hoava 1 H=3.0 C=65(28/26/24/15)
46| ey C HoaYa 1 C=65(29/22/17/1/6/6/6)
53| @y 1 HoaYa 1 C=109(42/34/27/21/25)
54| @|ny 2 T 1 C=86(70/53)

55| @ |4 2 HoaYa 1 C=69(46/29/24)

56| @ |ny 2 TIhY 1 €=100

57| @|ny 2 TIhY 1 C=104(60/45/44)

58| @|ny 2 TIhY 1 C=90(66/63)

59| @[n 2 TIhY 1 c=98

60 | ®[ns 2 TIhY 1 C=71(61/40)

61| ®[n 2 TIhY 1 C=80(65/49)

62| ®|ny 2 TIhY 1 C=104(45/40/38/26)
63| ®[|n 2 TIhY 1 C=165(58/47/43/30/30/28)
64| ®n 2 TIhY 1 C=120(47/38/31/30/26)
65| @ |Hh 2 TIhY 1 C=138(37/37/36/27/26/18/16)
66 | ® |Hh 2 TIhY 1 C=102(46/40/34/25)
67 | ®|Hhy 2 TIhY 1 C=141(47/35/35/32/32/21)
68| ®|Hh 2 TIhY 1 C=116(60/42/37/26)
69| ®|Hh 2 TIh 1 C=78(37/28/27/20)

1| e (% 2 P 1 C=174(78/77/52/42)
72| @|% C 1 C=64(63/28)
3|le|y C 1 C=48

IV 1 C=124

75| e ¥ C 1 C=64(38/31/22)

76| e[y C 1 H=2.6

7| ey 2 1 C=139(50/49/46/28/25)
78 Y42 1 C=101(43/20/20/19/14/14/14)
79 h¥F 1 1 O [H=25

80 hE A 1 O [H=09

81 hE A 1 O [H=09

82 hE A 1 O [H=09

83| eV C 1 H=3.0 C=66(18/15/12/7/7/7/1/7/7/7)
84 *v C *VE/£A 1 H=2.4

85 *v C *VE/£A 1 H=2.5

86 *v C *VE/£A 1 H=2.6

87 *v C *VE/EA 1 H=2.7

88 *v B *VE/EA 1 H=2.4

89 *v C *VE/EA 1 H=2.6

90 *v B *VE/EA 1 H=2.2

91 *v B *VE/EA 1 H=2.3

92 *v B *VE/EA 1 H=2.4

93 : B 1 O [H=23

94 B 1 O [H=23

95 B 1 O [H=23

9 B 1 O [H=23

97 B 1 O [H=23

98

99 2B ihv 1 O [H=23
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4 X @(2/2)
2 F %

& o _ ‘ARE Y (cm) # &(m) 1B (m2) AR om) 1B (m2) 1%
5 | E e A 2007 | 210~ | 180~ | 150~ | 120~ |90~ | 60~ | 30~ | 0| o 5|35 | g6 | 06~ | fase s [60~120{ 60~ [ 2~3 | 1~2 | 1~06 | 0.6~ | iEt A R

270 240 210 180 150 120 90 60
109| ®[n4 1 HAIHAT* 1
110| @ [n4 1 HAIHAT* 1
11| @[n4 1 HAIHAT* 1
12| @ |n4 1 HAIHAT* 1
13| @ [n4 1 HAIHAT* 1
114| @ [n4 1 HAIHAT* 1
115| @ |h4 2 hAIHhAT* 1
116| @ |Hh1 2 HhAIHhAT* 1
117| @ |h4 2 hAIHhAT* 1
118| @ |h1 2 HhAIHhAT* 1
19| @[n4 1 HAIHAT* 1
120| @[h4 1 HAIHAT* 1
121| @ |h4 2 HhAIHhAT* 1
122| @ |h4 2 HhAIHhAT* 1
123| @ |h4 2 HhAIHhAT* 1
124 @ |hA 2 HhAIHhAT* 1
125| @ |h4 2 HhAIHhAT* 1
127| @ |n4 2 HAIHAT* 1
128| @ |h4 2 HAIHAT* 1
129| @|n4 2 HAIHAT* 1
130| @ [h4 2 HAIHAT* 1
131| @[ha 2 HAIHAT* 1
132| @ |n4 2 HAIHAT* 1
133| @[h4 1 HAIHAT* 1
134| @ |n4 2 HAIHAT* 1
135| @ | V% 1
501 PZa 2
502 e 2
503 [ 3
504 vy 1
505 #95995 1
506 PZa 1
507 4 1
508 PZa 1 1
509 #95995 1
510 PZa 1
511
512 hE 1 O [H=11
513 hE 1 O [H=08
514
515
516
517 hE 1 O [H=19
518 Frry 1 O [H=19
519| @ 1
520 1 H=1.7
521 Pz 5261c& T
522 Pz 526lc& T
523 ZEE 1 O [H=26
524 EAS¥ET €A 1 H=1.9
525 1 H=1.1
526 64.2 H=1.2W=1.1L=17.6
527 |#vEkvvYy  |[HvFRvvy 9.9
527 |[#vEvyy 9.2 H=0.9W=1.7L=12
527| |HvEvYY 10.4 H=1.0W=2.0L=16
527 |#vEkvvyY  |HvFRvvy 11.2 H=1.0Ww=2.0L=1.8
527 |#vEkvvY  |HvFRvvy 12.8
528| |=7B 1
529 [~+vuB 1
53| [vva 1
531 1
532 1
533 1
534 1
535 1
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5 X [@E(1/2)
Z % % WmcL 2 ER
= . BAEEY (cm) # =(m) el i ®(m) #iE(m2) i
5| E e 200~ | 210~ | 180~ | 150~ | 120~ | 90~} 60~ | 30~ | 5| 53| 15| 106 | 0.6~ | st | 2 | 60~ | 60~0| 2~3 | 1~2| 1~06 | 0.6~ | st |
270 | 240 | 210 | 180 | 150 | 120 | 90 | 60

1| e |47 1 H77 1 C=92(30/50/51)
2 e |Hs 1 Y7 1 H=1.9

3| ez 2 IR/ F 1 C=118

4 | e |7 2 TYE 1 C=100

5| @7 2 IR/ F 1 C=147

6| ®|7 2 TYE 1 C=117

7| e x> 1 FUEILA 1 c=107

8 | ®|H¥ B B h 1 H=2.3

9 |e|Hs 1 Y7 1 C=56(46/34)

10| @ kv 2 Ev v RF 1 C=59

1| e 1 C=54

12 | @ | 1 TINAH Y 1 EEH=2.9

13| @ | 1 TINAH Y 1 EEH=2.6

14 @ |9n 1 TINXFY 1 EEH=2.8

15| ®@|kf47 B EASFEI A 1 EEH=1.8

16 | @ |7/ 1 TINXFHY 1 FEEC=64(43/25/23)
17| ®|tf47 B EASFEI A 1 EEH=1.5

18| @ |H¥% B HHFH 1 FEEC=34

19| @ |on 1 TINAH 1 BEEC=52

20| @7 2 IR/ F 1 C=128

21 | @ |v&L 1 YHELYS T 1 H=2.0

22| @ |vaL 1 YHELYS T 1 C=58

23| @ |v&XL 1 YELYS T 1 C=62

24 | @ |v&L 1 YELYS T 1 C=50 H=350

25 | @ |v&aL 1 YELYS T 1 C=63(65/25)
26| @ |>&L 1 YHELYS T 1 C=75

27T | @ |v&L 1 YHELYS T 1 C=87(74/50)
28| ®@|7 2 IR/ F 1 BEEC=201(147/70/70)
29 | @ kv 2 LY IV RF 1 FEEC=111(96/63)
30| e|7 2 IR/ F 1 BEEC=123(89/87)
31| @ v/ 1 TINXFY 1 BEEC=57(45/36)
32| @ |y 1 TINAH 1 EEH=2.3

33| @ |fr 1 K4 1 EEH=2.5

34 | @ | 1 < 1 EEH=2.5

3| @y 1 TINAH 1 EEH=2.8

36 | @ |V 1 TINAH Y 1 FEEC=44

37| @47 C EASFEI A 1 EEH=2.5

38| @ |vv 1 YYEE 1 FEEC=47

39| ejtv 2 EXTYRE 1 FEEC=96

40 | @ |E¥ 2 Ev I Y RE 1 1 BEEC=90

41 | @ |Ev 2 Ev Y RF 1 EEC=82

42 | @ |Ev 2 Ev Y RF 1 EEC=87

43 | @ |Hy 2 <Y 1 FEEC=56

44 | @ | 2 < 1 EEC=78

45 | @ [4¥ B HHFH 1 EEH=2.3

46 | @ |[E47 B b FFEI £ 1 EEH=2.2

A7 | @ |78 2 TINAH Y 1 H=2.9

48 | @ 4o 2 B 1 C=164

49 | @ B 2 H77 1 C=153

50 | @ |y 2 H77 1 C=168(180/34/26)
51 | @ |H#s 2 H77 1 C=207(159/137)
53 | @ |4 2 v 1 C=179(157/98)
54| @ %y 2 B 1 C=190(139/74/59)
55 FY—-7 1 |F#Y-7 1 O |H=23

56

57 FY—7 1 |F#Y-7 1 O |H=23

58 FY—-7 1 |F#Y-7 1 O |H=19

59 FY—7 1 |F#Y-7 1 O |H=2.0

61 # B P zRY 1 H=15

62 Hi B P zRY 1 H=1.8

63| ®|kv 2 EXTYVRE 1 C=100

64| @ ¥ 1 B 1 C=85(51/44/27)
65 #Y—7 C |FY—-7 1 O |H=13

66| @ |HA 1 HhATh4 7% 1 C=56

67 el Koy Y 1 H=1.8

68 K&y Fogryyy 1 H=1.8

69 B E B x 1 H=1.1

70 e Koy s 1 H=1.8

71 e Koy yy 1 H=1.9

72| e |hq 2 HhATh4A 7% 1 C=92

73| @ |hA 2 HhATh4AT* 1 C=82

74| @By 2 B 1 C=173

75 | @ |h4 1 HhATh4 7% 1 C=80

76 | @ |hA 2 HhATh4AT* 1 C=102

77| e |hA 2 HhATh4AT* 1 C=79

78| @ By 2 B 1 C=138

9| @ |hg 2 HhATh4A7T*F 1 Cc=71

80 | @ [H4 1 hATh4 7% 1 C=68

8l | @ %4 1 B 1 C=105(92/58)
82| @ ¥ 1 Ho7 1 C=35

83| @ ¥y 1 B 1 C=98

84| @By 2 Ho7 1 C=225(94/88/78/62)
85 | @Yy 2 B 1 C=109(94/62)
86 | @ |y 2 Ho7 1 C=151(86/79/50)
87 | @ |#s 1 B 1 C=82

89 | @ nF3I 1 NFIXF 1 C=44(32/31)

90 | @ [~FI 1 NFIXF 1 H=1.9

ol |e|[rnrz 1 |~rzzx 1 c=29

92 | @ |nFI 1 NFIXF 1 H=2.5

93 | @ |[~nF I 1 NFIXF 1 C=49

9 | @ [nFI 1 NFIXF 1 C=22

95 | @ |FrEy 2 |FrEUaY 1 C=96

97 | @ [HH C Y h 1 C=60(27/21/21/17)
98 | @ s 2 TR/ F 1 C=135

99 ¥~ B FrEIEA 1 H=2.9

100 ¥ A FrEIEA 1 H=1.4
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5 X ®i(2/2)
2 F &
] B mAREE Y (cm) # &(m) FiEm2) || skeE em FHE(m2) ik
5 | E HrES e 2007 | 210~ | 180~ ) 150 | 120 ) 90 1 60~ | 30\ a0 |5 o)y | 1o | o6~ | aes | i || o~ | 60~0 | 2~3 | 1~2 | 1~06 | 06~ | e aa | R
270 | 200 | 210 | 180 | 150 | 120 | 90 | 60
101 ¥ A FUEIA 1
102 47 B EASF¥EI A 1
103 47 B EAS¥FEI A 1
104 47 B EATFEI A 1
105 o1 HIL AR 1
106 ¥» C FUEIA 1
133 | @ | Hh4 2 HATHhATH 1
134 77 1 IFFY 1
135 TYA 2y 1 0.2
136 TYA 2=y 1
137 TYA 2y 1
138 TYA 2=y 1
139 TYA 2y 1
140 TYA 2=y 1
141 TYA 2=y 1
142 TYA 2=y 1
143 TYA 2=y 1
144 TYA ExaZd 1
145 TYA 2=y 1
146 TYA 2=y 1
147 TYA 2=y 1
147 TYA 2y 1
148 *ZX C 1
149 *X C 1 H=2.3
151 *X C 1 H=2.1
152 *X C 1 H=1.9
153 *X C 1 H=1.9
155 | @ |[o 1 1 C=165(48/45/44/39/36/24)
156 | @ |[¥2 1 1 C=72(63/40)
157 | @ |44 1 1 C=141(59/46/36/34/26)
158 | @ |44 1 1 C=50
159 4 C 1 fEEH=2.8
160 N2 1 fEEC=49
501 | @ [Ho 1 1 C=44(33/30)
502 | @ [ 1 1 C=32
503 Y 4 6.7 H=0.8W=0.6L=2.6
504 1 H=0.9
505 23.7 H=1.1W=1.2L.=6.2
506 15.5 H=1.1W=0.7L=4.8
507 1 H=1.3
508 1 H=1.0
509 1 H=1.3
510 1 H=1.2
511 1 H=0.9
512 1 O [H=19
513 a4 1 23.0 H=1.3W=2.2L.=3.6
514 AFTY 1 O [H=13
515 TRYT 8 16.0 H=1.0W=0.6L=5.7
516 7N A TINAHY 1 H=1.3
517 F yJ29yE H1.5 53.0 H=1.5W=1.0L=12.5
518 A 7% a4 TH 5 H=0.8
519 T8 A v 1
520 T A vy 5
521 VYT VYT 2 H=0.5
522 | @ |V/3F H15 VN F 30 H=1.5W=0.9L=7.0
523 hAYH HLS hAJh 148 H=1.5W=0.6L=3.6
523 hAYH HLS hAYh 9.0 H=1.5W=0.6L=2.0
523 hAYH HLS hAYh 5.0 H=1.5W=0.6L=0.9
524 #9929+ 28.7 H=1.3W=1.3L=6.5
524 RVIIFIN 28.6
524 #9929+ 11.6
527 eI FYYY 20.8 H=1.2W=1.0L=5.4
527 eI FYyYY 25.6 H=0.9W=1.0L=8.5
527 eI F 4 13.0 H=0.9W=1.0L=4.0
527 eI F 24.0 H=1.1W=0.8L=8.0
527 eI FYyYY 10.2 H=0.8W=0.8L=3.7
527 eI FYyYY 73 H=0.8W=0.8L=2.5
527 eI F 4 1 H=0.8
527 eI F 4.4 H=0.8W=0.8L=1.3
527 eI FYyYY 5.1 H=0.8W=0.8L=1.6
528 | @ |7/N2 TINXHY 1 C=41
529 | @ |¥H C YHUh 1 H=2.7
530 | @ |45 C EAS¥EI A 1 H=25
531 | @ |2 EN 1 C=71
532 VA 1 H=1.1
533 | @ 1 C=37
534 | @ T h 1 H=2.7
535 | @ FUEIEA 1 H=1.2
536 | @ TINXHY 1 H=1.1
537 | @ TINXHY 1 H=25
538 VYT 9.5 H=0.9W=1.3L=2.3
539 1 H=0.7
540 49 H=0.8W=0.6L=1.8
541 1 H=0.9
542 8.8 H=0.9W=1.0L=2.5
600 10 O
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X @

= = # P Y]

= | L ) EmAEE Y (cm) & (m) H(m2) ALY e B (m) #H(m2) L&
5 | ® RS BAA 2:3[; 2;’[; lill’u“ 1?;’0“ lf:U“ 91020“ GZU“ 320“ ~30 [ 2~3 ~2 |06~1.0| 0.6~ | me | w2l 60~120 | 60~ | 2~3 | 1~2 | 1~06 | 0.6~ | #E | s e
1 BARYYY VY 140 PAFE
2 [ ] YNE 1 H=2.9
3 1@ HHFH 1 C=43(33/29)
4 [ ] FXIEF 1 C=109(48/40/36/31)
5@ 1 H=2.5
6 [ ] HhATh4A 7% 1 C=59
71@ 1 H=2.0
8 [ ] hATh4A 7% 1 C=66

[} HhATh4A 7% 1 C=78

[} HhATh4A 7% 1 C=74

[ ] 1 C=88
12 hAIh4 7% 1 C=67
13 HhATh4A 7% 1 C=73
14 HhAThA 7% 1 C=59
15 HhAThA 7% 1 C=65
16 1 C=68
17 hAIh4 7% 1 C=80
18 HhATh4A 7% 1 C=70
19 HhATh4A 7% 1 C=68
20 hATh4A 7% 1 C=61
21 hAIh4 7% 1 C=71
22 HhATh4A 7% 1 C=75
23 HhAThA 7% 1 C=61
24 HhAThA 7% 1 C=65
25 1 C=64
26 hAIh4 7% 1 C=67
27 HhAThA 7% C=59
28 HhATh4A 7% C=65
29 hAThA 7% C=61
30 hAIh4 7% C=65
31 HhATh4A 7% C=59
32 HATHh4T* C=59
33 1 C=68
34 HhAThAT* 1 C=67
35 1 C=66
36 1 C=64
37 1 C=69
38 1 C=61
39 1 C=66
40 HhATh4 7% 1 C=69
41 hATh4A 7% 1 C=68
42 HhATh4A 7% 1 C=65
43 avhv O [H=0.6
44 Krhv O [H=0.6
45 O [H=0.6
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7 X8

= - 2 mIck 2 ERE
& | . EAEE Y (cm) o &m) #iima) [ mawEsen B &m) ii(m2) L
2| 5 RTES #AA 240~ | 210~ | 180~ 150~ | 120 90~ 60~ | 30~ | 0| 5 5| 1ep | 1~06 | 06~ | st | i || 60~120 | 60~ | 2~3 | 1~2 [06~10| 06~ [ fmse | mn | mum
270 240 210 180 150 120 90 60
1 D= 1 H=15
2 T FNSA 1 H=25
3 EATFES LA 1 H=0.9
6 EATFES LA 1 H=038
8 FUYEIZHEA 1 H=1.6
10 NFIZF 1 C=17(11/13)
11 EATFES LA 1 H=0.9
13 YRR 1 H=2.0
14 Y 1 H=1.7
15 T FNSA 1 H=1.8
16 NFIZF 1 C=65(41/30/22)
17 NFIZF 1 C=60(37/26/22)
18 NFIZF 1 H=2.5
19 EATFES LA 1 H=14
20 NFIXF 1 C=47
21 NFEIXE 1 H=2.0
22 NFIXE 1 €=81(30/25/23/19/19)
23 HAZhA 7% 1 H=0.7
24 27 RYA 1 H=16
25 NFIZF 1 C=83(41/34/29/15)
26 TFNSA 1 H=1.6
27 27y A 1 H=2.0
28 TF NS A 1 H=1.9
29 PP 1 H=18
30 £ ESHA 1 H=2.2
31 PLRARY 1 C=31(12/12/12/8)
32 NFIXE 1 €=78(29/21/20/17/13/11)
33 NFIXE 1 C=36(14/12/12/6/4/3)
34 PR PArE 1 H=1.6
36 PEUPLY 1 H—08
37 2Ty A 1 H=16
38 hAZNATH 1 Ho07
39 NFEIXE 1 H=2.2
40 £ EsA 1 H=14
41 £ ESEA 1 H=1.7
42 L4 1 H=2.2
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